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60% HYVSVE (Mg,Fe),SiO,

25% ®AHEG (Mg, Fe)SiO,

10% HFES Ca(Mg, Fe)Si,0g

5% ZIL=%=STHE

50kmLUR H—xRw bk (Mg, Fe, Mn);Al,Si;0,,
60~10km RE=RJL (Mg, Fe2+)(Al, Cr, Fe3+),0,
[0kmilE PNRE (Ca,Na)(AIAlLSiAISi,Og

(1) (2) (3) (4)
Si0, [45.32 44.21 44.20 43.97
TiO. | 0.06 0.15 0.13 0.07 =~ *8
ALO; | 4.41 4.13 2.05 1.64
Cr.0; 0.44  0.49
FE:O:i 1.44 1.94

FeO | 6.37 6.98 8.29° 6.83"
MnO | 0.13 0.15 0.13 0.13 |
MgO [38.51 37.68 42.21 44.73
NiO 0.28 0.36
CaO | 2.73 3.13 1.92 1.10
Na,O | 0.30 0.53 0.27 0.12
KO | 0.02 0.13 0.06 0.03
P.Os | 0.00 0.01 0.03 0.06
HO0+ | 0.70  0.95

CO. | 0.036 0.038
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